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1 Which one of the following west flowing rivers has the largest catchment-area?
(A)  Mah {B) Periyar
(C) Sabarmat (DY Bharathappuzha

(EY  Question not attempted
Frefeafiaa o & et o ufengy <ht 37 S/ arefl 9 ol G 987 STeraur-ai4 87

(A) wrE (B) ufEm
(C) wET! (D) waqET
(E) HTana s
2 Mushroom rocks, shifting dunes and playas are features of which of the fellowing regions of Tndia?
(A) The Island (B) The Coastal Plains
(C) The Indian Desert {D)} The Peninsular Plaieau

(E)  Question nol allempled

T I, TAHIRT Lefer 2ot S i qre & Heforfas 3 9 forg & =y fagmmd 20

(A) ¥ (B) deT I
(C) YRATY Je&e (D) U 48R
(C) AR 5

3 Kanchenjunga peak is situated in which of the following regions of Llimalayas?
(A) Darjecling and Sikkim 1limalayas (3)  Arunachal 1limalayas
(C) Himachal and Uttarakhand Himalayas (D) Kashmir Himalayas

(E)  Question not attempted

eSS Tewer = fmferfea o o forg & o fewa 29

(A) it 7 fafemn feurem (B) e fEmTeE
(C) Temrae o oo femer (D) YR fearerer
(F) 3T T
4 ofe ¥ ¥q R 30 I o foTU U ek R 2T 8-
(A) @I (B) 3T
(C) e (DY =T
(F) ormia g
5 Which country will host the FIFA Women’s World Cup in 20277
(A) India (B) Brazil
(C) Ausiralia {D} South Alrica

(E)  Question not attempted

T afEer foe wu, 2027 F AT BT 97 3T HED

(A) 9Rg (B)  HATSIIe
(©) sl (Dy 3T aTshien
(C) AR 5
6 Which onc of the following Indian Paralympian has won two gold medals in the Paralympics 20247
(Choose the most appropriate option trom below)
(A)  Manish Narwal (B) Nishad Kumar
(C) Yogesh Katuria {D} Devendra Jhanjharia

(E)  Question not attempted

Pt & e st i & frafeafior 2024 8 3w gam e 82 (e i & e e e )

(A) T T ®) FeETFAR
(C) AT shefe (D) %o gighen
(C) AR 5
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7 Match List-T with List-TT

List-1 (Country}) Lise-11 (Capital City)
a. Mauritius i Victoria
b. Seychelles 1i. Jakarta
C. Maldives iii.  Port Louis
d. Indonesia wv.  Male

Tit-1 %1 eI §il-T o |1 ehifeg
Tet-1 (39T TeAT-11 (AT T80

a. eei e 1. it
b, I i, el
c.  HeRE ii. U

d.  IEEfEET iv. A

Choose the most appropriate option from below:

T 4 & e sy e A il
(A)  a-i, b-ii, c-iil, d-iv (B)  a-ii, b-iv, c-1, d-iii
(C) a-it, b-i, c-iv, d-ii (D)  a-iv, b-iii, ¢-1i, d-i
(E)  Question not attempted / C’Flflflﬁ_rf uq
8 Rakesh is son of Aman’s father’s sister. Sonu is son of Disha who is mother of Gopal and Grandmother of
Aman. Aaray is father of Tanya and grandfather of Rakesh. Disha is wife of Aarav. How is Rakesh related to
Disha?
(A)  Grandson (B) Niece
(C)  Nephew {DY Cousin

(E)  Question not attempted

TFRRT 3 o TOraTSit 1 98T 1 01 2 T To 67 91 2 it Moret ot A <t € S o1 i 37 8) 7S e
TorTSt 371X TeheT o Q=TS 21 SARE <Y Tt farem &) Teher o fawm & o wste 7

(A) 9T () (B) T ()
(C) W (IS (D) =A=HY /1
(E) HTana s
9 From the given options select the box that can be formed by folding the sheet shown in fig (X).

FRf (X) ¥ et 7 vite i g 91 A e i R T e § ¥ wm

X
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#
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X
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(©) % $ (D) :

(Ey  Question not attempted ¢ 3@1’&[ EE)
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10 “SAr=1eT 1 | fo=e 2-

(A) &9+ BlEA (B) =D+
(C) e+ (D) 3T+ BEA
(F) ormia g

Read the passage carefully and answer questions that follow by choosing the correct option:

(Q.No. 11 to 15)

While working in the esiablishmenis ol Space Delense Research and Alomic Energy, Dr. Kalam [ound thai
the best human beings and the most innovative minds were present here, in plenty. Onc common featurc was
also found in all the scientists and technologists: they were not afraid of failures during their pursuits because
failures contained within themselves the seeds for further learning, which could lead to better technology and
eventually 1o high level ol success. These people were greal dreamers and their dreams [nally culminated in
speclacular achievements. Taking account of the combined lechnological sirenglth of all these scientilic
institutions, it would certainly be comparable to the best found in the developed world.

Regarding personal freedom, Kalam is said to have adopted two techniques to strengthen it. First, by building
one’s own education and skills — knowledge is the most precious tool; the more up-to-date knowledge one
possesses, the [reer one is. A leader can only be [ree (o lead his team, il he keeps abreast of all that is
happening around him. To lcad is in a way, to cngage in continuing cducation. The sccond way, is to develop
a passion for personal responsibility, by way of taking on responsibility to work for the things you belicve in.
If you de not, you would be surrendering your fate to others. Historian Edith Hamilton wrote of ancient
Greece, “When the freedom they wished for most was freedom from responsibility, then Athens ceased to be
[ree and was never [ree again. The truth is that there is a greal deal thal most ol us can do Lo increase our
freccdom. We can combat the forces that threaten to oppress us. We can fortify oursclves with the qualitics
and conditions that promote individual freedom.”

Dr. Kalam is neither an orthodex nor a conservative religionist. He has a scientific temper blended with
spirituality. Drawing an analogy between science and spirituality he says, “While science has a habit of
questioning, spirituality i8 based on known principles; both of them lead one o seek (ruth.” He is an individual
filled with humanism and loved and renowned by the entirc nation, without any barricrs of age and community.
"“India must stand up to the world because T believe that unless Tndia stands up to the world, no one will
respect us. Only strength respects strength.” So said Dr. Abdul Kalam, the nuclear scientist who developed
and structured India’s missile arsenal. He belongs to the world of nuclear weaponisation and has supported
the nuclearisation of India consistently.

11 According to Dr. Kalam, the element that was common beween the scientists and technologists was:
(A)  They were best in the world (B) They had spectacular achievements
(C) They were nol alraid of [ailure {D)} They were greal dreamers
(E)  Question nol allempled

12 According to Dr. Kalam, personal frecdom can be achicved only when

a. You empower yourself with knowledge

b. You free yourself from all responsibility

C. You develop a passion [or personal responsibility.

d. You develop courage to be responsible for the work you belicve in
Choaosc the most appropriate answer from the options given below:

(A) a.bandconly {(B) b,canddonly
(C)y b,dandaonly (D) a,canddonly

(E)  Question nol allempled
T19] O 4 [ P.T.O.



13 Dr. Kalam supported nuclearisaion of India as he strongly believed that:
(A)  We can combat the forces that threaten to oppress us
(3)  Unless India stands up to the world, no onc will respect us
(C) Knowledge is the most precious 1ool
(D) There is a great deal that most of us can do to increase our freedom
(E)  Question not attempted
14  Dr. Kalam draws an analogy belween science and spirituality according 1o which
. Science is based on questioning whereas spirituality is based on established principles
b, Baoth are arrived at by not questioning
c. Both Icad one to seck truth
d. Both are habits
Choose the mest appropriate answer from the options given below:
(A) aandbonly (3) bandconly
(C) candd only (D} aandconly
(E)  Question not attempted
15 Match List-T with List-TT

List-1 List-11

a. Conservative I. Using new ideas

b. Arsenal 1. To teel stronger

C. Innovative UL A collection of weapons

d. Fortily IV. Opposed to sudden social change
Choose the most appropriate answer from the options given below:
(A) a-TLb-Tc-T,d-TV (B) a-TV.b-TLc-T,d-TI
(C) a-ILb-IV,c-UL,d-1 (Dy a-Lb-1V,c-1Ld-1l

(E)  Question not attempted

16 A sum of money amounts to ¥ 6,690 after 3 years and to ¥ 10,035 after 6 years on compound interest.

Find the sum.

e TN wishafeg, STST § <A1 A o 18 X 6,690 TH 6 I o T 10,035 & ST &, Y 7 ST TRy 71 a0l
{A) T4400 {(By 4,460

(C) T 4,900 (D) ¥ 5,000

(EY  Question not attempted / 31?@'?&[ EE

17 The price of a gold-biscuit is dircctly proportional to the squarc of its weight. A person broke down the
gold-biscuit in the ratio of 3 : 2 : 1 in lerms ol ils weight and [aced a loss o[ ¥ 4,840. Find the initial price of
gold-biscuit.

T o T Toreehe i ShIAd I8eh WX 6 a1l & HHTTITAT ol Toh Ak $6 | & fseshe 3l 32 2 1 1 3 STo1a ® argar
& ST aTeT ® 126 39 T 4,840 11 2 81 W 3 e Ay wrfirs e s

(A) T 7.000 {B)y %7200
(Cy 7,920 (D) T 8,000
(E)  Question not attempted / fﬂ?la?lfﬁ RE]
T19] O 5 [ P.T.O.




18  Dadu Dayal was born at
{A) Nagaur {B) Bikaner

(C) Kola (D) Ahmedabad
(E)  Question not attempted
HECRISEARE LGSR
(A) AR (B) ftwrH
(C) =y (D) STRTEETEH
(E) i ot
19  Which site of copper culture was discovered at the source of river Kantali at Neem Ka Thana?
(A)  Gilund {B) Bagor
(C) Ganeshwar (D} Ahar

(E)  Question not attempted

=1 3T ST H i T S HI I ATH TR T A T T G T

(A frre (B) =W
(C) TR (D) S
(E) i ot
20 Which of the following kings of Kamboj has created four scriptures of total 326 Paragraphs?
{A) Bahuvarman {B) Yashovarman
(C) Rajvarman (D} Jayvarman

(E)  Question not attempted

freferfiaa & & seeier o form T 3 et 326 STl % IR e ot T 1

(A) =g (B) FIMEET
(C) TSEHT (D) SHFHT
(E) i ot
21 Which temple is called “Mini Khajuraho® of Rajasthan?
{A) Ramgarh Bhand Devra Temple {B) Temple of Kiradu
{(C) Rani Bhatiyani Temple {D} Shree Nakodaji Temple

(E)  Question not attempted
T o Tt e form wifvat = e e 22

(A) THT] g 30 ui<t B) frug Fafw
(C) T JfeaT AfT (D) st TRt ate
(E) i ot

22 Who founded Kamadia Panth?
{A) Ramdewji {B) Mallinathji
(C) Harbuji (D} Tejaji
(E)  Question not attempted
FHTATSAT T T T Tohr T 9
(A) THEF S (B)  Afcermer it
(C) wSit (D) IS
(E) i ot

T19] 6 [ P.T.O.



23 Which place of Sikar is famous for gota industry?

{A) Khoor {B) Piprah
(C) Nechwa {D} Khandela
(E)  Question nol allempled
T T I | T 12T 3T o foqu wfeg, 22
(A) T (B) Tooet
©) = D) T
(F) ormia g
24 Which of the following regions of Rajasthan is benefitted by Gurgaon Canal Project for irrigation?
(A) Bharatpur (B) Jaipur
(Cy Kota (D)  Jodhpur

(E)  Question not attempted
TFSTET o (R TeTREre 5§ foret &S ol TSTTid et UiE ST 4 G &6 <1 8lar 82

(A) AL (B) =AY
©) = (D) ShuE
(C) AR 5

25  What is ‘DIGGI’ construction?
(A) A new agriculture method
(3) A technique of lland Loom
(C)  Operation for restoring surplus water for field crops and agricultural activities in canal command area
(D) Construction of pipeline for irrigation
(EY  Question not attempted
“fewf famir a0 &7
(A) IV I U 5 Fgfd
(B)  TYUeRTH] shi Ush: dohri[oh
(C)  TECHAN & woal i iy nifafmt & o sy St serer w0 a1 erfimm
(D)  Téf=d % forw arswrers = fmior

(C) AR 5

26 Which is the oldest Public Scctor undertaking of Rajasthan? (Choose the mest appropriate option from
below:)
(A) 1lindustan Salts Ltd. (13) Rajasthan Statc Ganganagar Sugar Mills Limited

(C) Rajasthan Drugs and Pharmaceuticals Ltd. (DD} Rajasthan Electrenics and Tnstruments Led.

(EY  Question not attempted
TSI ST HeR ST WIS eF &1 T SI5hH 19 T &7

(1 4§ Haw 3ag foshed )

(A)  Tegwm wree fefiee (B)  USEIH T2 T IR e feafide
(C) TSR W U HHi e fofiide (D) UeHTH seigiag U gegicd e
(C) AR 5

T19] 7 [ P.T.O.



27  The words *Socialist and Secular’ were added to the Preamble of the Tndian Constitution by:

(A) 41* amcendment
(C) 44" amendment

(EY  Question not attempted

(B)
(D)

42" amendment

46" amendment

R % Gl 1 TaraT 5 718 “Socialist” (FAETED) 3T “Secular” (SHUe fomer diier 3o e e

(A) 41 FTEemeT
(C) 44 I H=eA
(F) 3T T

28 Who introduced the final draft of the Constitution?

(A)  Dr. K.M. Munshi
(C)  Dr. B.R. Ambedkar
(E)  Question not attempted

T it siftw v (gree) forees g e o

(A) €% T g
(C) =t ¥R, T
(C) AR 5

(B)
(D)

(B)
(D)

(B)
(D)

42 Ff G
46 AT G

N Gopalaswamy Avyangar
Alladi Krishnaswamy Avyar

T TITTRETHT 3T
YT SHeUTREITHt 37T

29  Which Fundamental Right was deleted from the list by the 44" Amendment Act, 19787

{A)  Right againsi exploilation
(C) Rightto freedom

(E)  Question nol allempled

(B)
(D)

Right 1o property

Cultural and educational rights

44 9 HaTrg YT, 1978 o g0 Hefiad 4 € s & difcr sAitenr &0 g=i & gar foam @ o1

(A) IooT % e, saforapm
(C) EIdAdT T 3AMHHR
(E) HTana s
30  Tfcaiiad weniie & Gl 31 &1 = fiu:
“TE 1 e, oI i =g
(A) Ly fre

(C) U FeaTee arcil Hosil

(C) AR 5
31 T HHET - ¥ gEie i ;
gei-1 (31 7Te2)
b. T g TE e

PO 1 7 R 2 ) O s
=l fau Ty fersred i o o galfess 3w 3o T :
(A) a-Lb-1l,c-1v,d-1l
(€C) a-TV,b-TLc-T,d-1
(F) ormia g

T19]

(B)
(D)

(B)
(D)

=

M1
Iv.

(B)
(D)

ot a1 stfeepm
HiE e 37 LT H{LhHR

T U W il i de
T Hie I AT F 92

HEt-11 (3 7158)

a-1Iv.,b-Lc-1lUl,d-1U
a-MLb-T,c-T,d-TV

[ P.T.O.



32 =il o o orvge o w s1far fowivar 2-

(A)  Toremt & shergan () foreml & srmE
(C)  fom=mi 3 geean (D) fa=ml & swrensn
(F) ormia g

33  What a special ellect is called thal occur when you move [rom one slide to the next during on-screen
presentation? (Choose the most appropriate option from below)
{A) Slide Transition {B) Lllect
(C)  Custom Animation (D) Present Animation

(E)  Question not attempted

Ueh el o I Uk TeTTES § GO &AT9S o Uiterel i o7 alTel TUTe] §r ohl o1 hed 27

(e 4 & e sagw o =9)
(A) &S g (B) g
() FeH T (D) IStz TETE
(E) gt o
34 is the Shortcut key that hides the selected columns in Excel.
SiToohe T el H =g SieTd oI fdret 2
(A)  Shitt+FI10 (B) Alt+H
C) F2 (D} Cul+0 (Zero)

(EY  Question not attempted / 31:|\ﬁ|‘1'?'| EE

35  Which ol the lollowing statement is NOT true about the different types of MS Word Alignments?
(A)  Left Alignment-All the lines of the paragraph will be aligned on the left
(3)  Center Alignment- All the lines of the paragragh will be aligned to the center
(C) Right Alignment- All the lines of the paragraph will be aligned including on the right
(D) Justify- The only left side of the paragraph will be aligned including the last line.
(E)  Question not attempted
e H g ar e Tl v 3 v ve 9 TeEEee S IR H e et -
(A) ST UETgHe-TTE ohl Tl et a7 ke @it
(B) o TelTsTo=2-317=8 ol it o1rg ot e o ifeharg =it
(C) T TTETHe- 3o i Tt et &t o7 feherg il
(D)  VREwE-ST =R S =it 7 (Tee) Uit gt form enfigdt ofw «rafimfaa @
(C) AR 5
36 The moist deciduous forests are not found in which of the following regions of Tndia?
(A) Foothills of llimalavas (3) Northeastern States
(C)  Eastern slopes of the western ghats (D) Peninsular plateau

(E)  Question not attempted

R o Hfcilad 4 4 ford &3 T 2172 wofure 3 7=t aro s 22

(A)  Teurerr &1 fidfteg B) I T
(C)  wizi =me o el et (D) TR YR
(F) ormia g

T19] 9 [ P.T.O.



37  Which of the following is known as the oldest museum of Rajasthan?
(A)  Ahar (B)  Amrapali
(C)  Albert Hall (D) The Crystal Gallery
(E)  Question not attempted

Ftrfiaa o © Tort ToIE o WT=iHaH GIEret™ o &9 § ST STl 272

(A) B (B)  HATHUTHAT
(C) 3w Eied (D) Torkeet ettt
(E) gt o

38  Kolleru lake is situated in which of the following states of Tndia?
(A)  Qdisha (B) Rajasthan
(C)y  Andhra Pradesh (D) Tamil Nadu

(E)  Question not attempted

T e W o Hefeiiad o 4 fore 59 1 T €2

(A) &ifsm (B) US¥IH
(C) SAFA YR (D) dAlHeTg
(E) gt o

39  Select the status of population where number of members in pre-reproductive stage is less than the number
in reproductive stage:
(A) Expanding (B) Stable
(C) Declining (D) Stages not affecting each other.
(E)  Question not attempted
SEEAT <hi 3 el o == <hITSTE, Torers gdl Sie WTareel dlel Hewa | ohl ST SSiH dTel 9es| 8 &:H 8.

(A) S (B) ¥l
(C) BEIE (D)  TSrEATE, Uk GEL bl STforet A& el &
(E) gt o
40  Who is considered as the father of *“Ecology’ in India?
(A) C.V.Raman (B) Ramdeo Misra
(C)  Panchanan Maheshwari (D) Lalji Singh

(E)  Question not attempted

e o & wra g swrftRafashe o si9es o &9 0 g ST S 22

(A)  Hid. (B)  Ted fusm
(C) HemH H2al (D) arets fiE
(E) gt o

41  Which among the following is produced by a fungus?
(A) Citric acid (B) Butyric acid
(C)y  Acetic acid (D) Lactic acid

(E)  Question not attempted
T3 T T 97 Uk shaeh g1 3cUTfed BT 82

(A)  Tufes ema (B) =Y v
(C) uffies e (D) Ak st
(E) gt o

T19] 10 [ P.T.O.



42 The most appropriate statement about thalassemia is:
{A) Thalassernia gene is present on Y chromosome.
(3) Thalasscmia patients arc able to manufacturce normal hacmoglobin.
(C) Thalasscmia is caused duc to defeet in RIBC producing genes.
(D))  Thalassemia patient requires frequent blood transfusion in order to survive,
(E)  Question not attempted
Aereifra 4 Heifer qer U e & =P FIT;
(A)  SorelifEET S Y TR W 39t g 8
(3)  Srerfer i g S e I 9S4 B
(C)  RAH (RBC) 3ea= &t arer S & 74fE B 2 shreor derefifirar T g 21
(D) SeiteET Uit it Sfiferm & 3 o Sro=m sfiR s i siavasrar gt 2

(E) i ot
43 Arrange the names of Governors of Rajasthan in the chronological order:
a. Shri Raghukul Tilak b. Shri Sukh Dev Prasad
C. Dyr. Sampurnanand d. Dr. M. Chenna Reddy
TTEIT o TSITET o ATAT 61 SICThIHeR hH S eod e
a. 3 TFS oo b.  #i GEeE TR
c.  El.umuidE d. I =T EE
Choose the most appropriate answer from the options given below:
=1 fow e foeredi § & wrarfféres soge s T
(A) a,b,cd (3) b,c,a,d
(C) ¢ bda (DY c.a,b.d

(E)  Question not attempted / 31?@'?&[ EE]
44  The Balwant Rai Mehta Committee was set up for the purpose of-
(Choose the most appropriafe option from below:)
{A) Invesiing the adequale [inancial resources of the village panchayat
(3)  Suggesting mecasurcs for democratic de-centralization
(C)  Reporting on the working of the village panchayats at that time
(D) Suggesting measures for better efficiency in the implementation of the community development
projects
(E)  Question not attempted

e T S aiHta St § & few seva & wnfua 6 ft ot (Feafataa 9 @ gaa segw e )
(A) 7T YR o g T geee o e e s fe
(B) AT FerrsaoT o G & o forg
(C) <8 99T UTH v=rad =i e Jieft it frod 29 3% forg
(D)  HIETRIE, (o YIEISHIST shi SEek S&1dT § @] St o Y&l < o folg
(E) gt o
45  Which ol the lollowing parts 15 related 1o the Direclive Principles of Siate Policy in Indian Constitution?
T o ifd frderer Rrgiat a1 Frea § & e Wi et wferar & e 22
(A) IV B) v
(C) VI D) TV-A
(E)  Question not attempted / fﬂ?la?lfﬁ RE]

T19] 11 [ P.T.O.



46 A person is having symptom of severe weakness and is diagnosed with ‘Beriberi’. Which of the following
vitamins would be supplemented through medicine and diet?
(A) Vitamin A (3) Vitamin 13
(C) Vilamin C (D} Vilamin D
(E)  Question not attempted

e SATh STEATHeh SRHSTRT R ST8T0T ST & SHeRT HR0T *sHsi” Ui 9T Sian 2| Feferiad & & i 97 et

I SRR F T4 H [k &9 F T Sem?

(A) faerfimo (B) faziirraft
(C) Toerfum = (D) fofm
(F) 3T T

47  Rced blood cells of which of the following blood groups containg both A and 3 antigens?
T 7 @ o SR wpg ot el T ShITTERTSl § A 7T B &1 Wt (GEsT) RS &7
(A) A (B) B
(C) AB Dy O
(Ey  Question not attempted ¢ EFlﬂﬂﬁ_d g

48 A person with blood antibody B can recieve blood [rom the blood group ol
(A) AorOonly (B) BorOonly
(C) AorBorABor Oonly (D)  Oonly

(E)  Question not attempted

s ik ek & 1 B wfiwed! 2, T SI @ o 801 a1 wehdl 27

(A) FETAFATO (B) FHAABATO
(C) oI AITB ATABATO (D) FIAO0
(E) HTana s

49  Rajasthan Value Added Tax Acl was passed in which year?
TSR G HF e L T (Joo] Tee o) forg o wifi gam?
(A) 2003 (B) 2000
(C) 2007 (Dy 2010
(E)  Question not altempled ¢ ailflaﬁﬁ_d RE]

50  Where is Dhirubhai Ambani Solar Park located?

(A) Kota (B) Dhursar
(C)  Suratgarh (DY Kavai
(E)  Question nol allempled

TS Tt T Uk skl ot o B2

(A) whiar (B) R
(C) e (D) FEE
(C) AR 5

T19] 12 [ P.T.O.



51  Which of the following is the first major coal-based Thermal Power Plant in Rajasthan?
(Choosc the most appropriate option from below:)
(A)  Chhabra Power Plant {B) Kota Thermal Power Plant
(C)  Suralgarh Power Plant {D) Kalisindh Thermal Power Plant
(E)  Question not attempted

TfeTiRad o & i A1 USTEA ol Tl ST hIeTl-SATAT a1 T Heis 82

(4 & e sugw faweT )
(A)  BTog forera wef (B)  ier a1 foera W
(C) HTTg foregd oA (D) =ty ara faegd w24
(E) #Tana s
52 The reaction which is catalysed by the product formed is called reaction,
{A) reversible {B) aulocatalysed
(C)  biochemical (DY displacement
(E)  Question not attempted
T8 AAtafsea far seure & 3ores 1w g, sfiferar shaed &
(A) SR (B) wad:3cifd
(C) SEuErS (D) o
(E) #Tana s

53  The functional group present in aldehydes is:

ufeeers H 3ufeuq smieTe (hawme) W E &

H
|
(A) —OH B —C=0
0
|
) —C— 0y —C—OII
]
0O
(EY  Question not attempted / 31:|Qﬂ|‘1'?'| EE
54  The TUPAC name of the given compound is:
CH3 — CH — CH,CH
CH,4
{A)  2-Methylbulane {B) 1-Methylbuiane
(C)  Pentane (D} 3-Methylbutane
(E)  Question not attempted
CITy — CI— CT1,CIL, et T AT =7 LUPAC AT E:
(A 2-fremgeerea (B) 1-fimsasg
(C) WA (D) 3-femgesaeT
(E) i ot

T19] 13 [ P.T.O.



55

58

59

Allaline KMn(}4 + Heat

CH,CH,0H > CH;COOH

In the above reaction, alkaline KMnQ, acis as a

{A) reducing agent {B) oxidising agent
(C) Calalyst (D) dehydraling agent

(E)  Question nol allempled
wrirg KMng 4 e

CHLCH,0H > CHRCOOH

Sqiieh AR 7§ & KMnO, & B T T T 8l

(A) AT e (B) AT LT ek
(C)  IUH (Dy  fsicfientor e
(C) AR 5

Choosc the most appropriate English word for the given word:

GECHTET

(A) Abctment (13) Abatement

(C)  Abolishment (DY Apartment

(E)  Question not attempted

Choosc the most appropriate onc-word substitution of the given sentence:
A portable case for holding papers, drawings, documents etc.

(A)  rack (B) portfolio

(C)  wardrobe (D) briefcase

(EY  Question not attempted

Choose the mest appropriate word which is opposite in meaning to the given word;

Disparage
(A) Derogatory (B) Detraction
(Cy Comfort (D)  Applaud

(E)  Question not attempted

The f{irst satellite launched by India into space was:

(A) INSAT-1A {B) Aryabhalla
(C) Chandrayaan-1 (DY IRS-1A
(EY  Question not attempted

T ST ARG H HSI 7T YT IS T

(A) R (INSAT)- 1A (B) g

(C)  =EAF-1 (D) TS AT TH (IRS)- 1A

(E) #Tana s

T19] 14

[ P.T.O.



60  The least distance of distinct vision (or the near point) for normal eye is taken as 25 ¢m. This distance
increases to S0 cm for an elderly person, If the person tries to read a book at about 25 cm from the eye, the
image appears blurred. This delect of the vision ol eye 1s called:

(A) Tresbyopia (B) Hypermetropia or farsightedness
(C) Myopia or nearsightedness (D)  Astigmatism

(E)  Question not attempted

U |TAT 3 o ol ¥ @i ol =ptam gl (a1 Fepe foig) 25 St it Sireft B) wor g =afep o forw, @ gt srgart 50
il ek &1 STl 21 AT ek 25 Wit 2l gl & eh WG 21 IR AT & ol wfcifelel (3eT) ere Selid siar &) = &
77 3% Y w8

(A)  UEETTYET I SEy (B)  ETSTHSIRT A7 FEIE A
(C) AR a7 fehe gfe &y (D) uRemHfsw ar sfsigen
(E) i ot
61  Who was the first Chicf Minister of Rajasthan? {Choosc the mest appropriate option from below:
{A) Jai Narayan Vyas {B) Tika Ram Paliwal
(C)  Hira Lal Shastri (D) Hari Dev Joshi

(E)  Question not attempted

TSTEAT o T4W @1 24 97 (Hefetiad § 8 @8 399 [aehey o)

(A) ST TR S (B) 2R TH UTetaTe
(C) &0 e I (D) &t ga st
(E) i ot
62  Who appoints the chief secrctary of the state government?
{A)  Prime Minister {B) Chiel Minister
(C)  TPresident (D} Governor
(E)  Question not attempted
T HERR o 0 iwra whi 3fvh &I i 87
(A)  TEEAT (B) TEIHAT
(C) Tt (D} T=AUTA
(E) i ot
63  Where is the hcadquarters of the Revenue Board of Rajasthan?
{A) Jodhpur {B) Udaipur
(C)  Ajmer (D} Kota

(E)  Question not attempted
ST Tei%d H&el ohl ‘\-IJ{EQIIQ'IQI Eh%f%f?

(A) SR (B) ST
© &= (D) e
(E) i ot

64  llow many truc breeding pea plant varictics were used by Gregor Mendel for his experiment on artificial/
cross pollination?
T HEeT 3 ST FHH, T RATOT T 2 FoIg Ha 36 et =y fererefi YT oo fepest gurrm i
(A) 8 By 7
©) 14 D) 10
(E)  Question not attempted / 31?@'\’&[‘5[‘3

T19] 15 [ P.T.O.



65  Select the camel breed known to have excellent swimming capacity in seawater.
{(A)  Malvi (B) Jalori
(C)  Kharai (DY Mecwar
(EY  Question not attempted
Fig I 3 T I U SHY HHET Sl T o7 7 399 uar 2 2)

(A) Hrersl! (B) SI@NT
© @t (D) Hart
(E) HTana s
66 Who among the following is the Advocate General of Rajasthan as on 6" September 20242
(A)  Jitender Gupta (B)  Jui Singh Sharma
(C) Rajendra Prasad Gupta {D)} Bhupendra Meena

(E)  Question nol allempled

freferiiaa o & TeTeeT o WeIeEdT (6 e 2024 &) A 87

(A T (B) w7 fegyml
(C)  TSis; TS A (D) o=z Hiom
(C) AR 5

67  Given below arc two statcments:

Statement (1): The highest unit of Panchavati Raj system, is Zila Parishad or District council. Zila Parishad
is a supervising authority regarding the execution of the plans and projects of the rural
development and progress

Statement (11): The Zila Parishad (District council) is organized by the direct elecied members [rom regional
arcas i.c MLA's, MP’S from Zila Parishad.

In the light of the above statements, choose the most appropriate answer from the options given below:

(A)  Both Statement (T) and Statement (1T} are correct,

(B) Both Statement (I) and Statement (TT) are incorrect.

(C)  Statement (1) is correcl bul Statement (11} 18 incorrecl.

(D) Statcment (1) is incorrect but Statement (11) is corrcct.

(EY  Question not attempted

FHUT - (1) : USRI ST AT ol ITora FohTS el g 71 Tsfigare wfire 31 forer uitg amior e 2

sTfer shY AT ST ARSIt 3 Rt o Welle stefaqer siie 21
HAT - (1) : e ofteg (fefegae wRfaen) & waeen 3 &= o Tae faifaa wesat stoiq foem Tieg & MLA,

MP ETT T Tt 21
IUH Al o AT § HTRad faehedl § 8 Aaffere: Sqgw Iu o -
(A) I (I) 3 A (L) 24T |t &) (B) T (L) I 2 (1L} ST TTetd &)
(C) & (1) WEl & Tohrq] A (1) TeTq B | (D) U (L) TTerd 8 feheq] A (11) HET 2
(E) HTana s

68  There is certain relationship between the two terms to the left of ;; and the same relationship exists between
the two terms to its right. Find which option would replace the question mark?
12 o ST ST A1 UET o e o UaY 2 37 I T o Hely 6o it AR %5 a1 val o e B yHare =g # o
AT oo = var JmE|
324:289::256: 7
(A) 125 (B) 200
(Cy 225 (D) 361
(E)  Question not altempled ¢ ailflﬁﬁ_d RE]

T19] 16 [ P.T.O.




69  Find the number of triangles in the given figure:

Hrer €1 TS ST 7 RIS T de AanT;
(A) 13 ®B) 15
©) 16 (D) 17

(E)  Question not attempted / 31?@'\’&[‘5[‘3

70 A’ °B7°CT, DY, ‘B and CFT are silling around a round lable. “C’ 1s not 1n either of the neighbouring seais
of ‘E’. "A’ is between ‘E" and *F' and “E’ is oppositc to "I}, Who is oppositc of ‘F'?
‘A%, ‘B, C’, D, *E’ TE'F Uk TR Hel ob SR 3T sla 2| *C, “E” o a7l ohl foptl Tl W Ad a1 8| A",
‘E' 3R CF R A §IT R AAT E” D’ F WA §37 8] F H AT R AT ?
(A) A (B) B
€ C Dy D
(E)  Question not attempted / fﬂ?la?lfﬁ RE]

71 In arow ol children, Geela 1s [ilth [rom the le[l and Praveen is twellih [rom the right end . If Praveen shifis
by three places towards Geeta, he becomes tenth from the left end. How many children are there in the row?

el Sl T Uitk W, T a1 SR e T 9T # S Wi SifE DR 8 ared S o &) At weior, 1y & a7
T T Tiawrah ST 2, A1 9% 919 SR & S99 T W 377 ST 2| Uik H et T aoet 2
(A) 20 {B) 22
(Cy 24 Dy 26
(E)  Question not attempted / Bilfljﬂfﬁ RE]
72 The Government of India is planning to implement a new highway toll cellection system bascd on which
technology? (Choose the mast appropriate option from below)
(A) Barcode Scanning (13) Ncar Ficld Comnmunication
(C)  Global Navigation Satellite System (D) Radio Frequency Tdentification
(E)  Question not attempted

T R Ueh 714 TSt 2t §OEvr Jormelt o2 o o & € 9% forar qepeiien ox amari gmm?

(14 & e g faweT )

(A) SRR ThiAT (B) T hice FRHawH

(C)  Teteret Sferier Seetse freen (D) A shimat stk
(F) ormia g

73 Where has DRDO conducled a successful test [lighi of the Indigeneous Technology Cruise Missile (ITCM)
on 18 April 20247
(A) Rajasthan (B) Odisha
(C)  Andhra Pradcsh (DY Karnataka
(E)  Question not attempted

AR FT T 18 3T 2024 T T TNRR 35 et (ITCM) 1 T%a 3o wtemr et fora o

(A) USRI (B) ifgem
(C) iy e (D} &eH
(F) 3T T

T19] 17 [ P.T.O.



74 Todgarh Raoli Wildlife Sanctuary is located in ?

(A) Assam (3) Woest Bengal
(C)  Chhattisgarh (I}  Rajasthan
(E)  Question not attempted
e Tt T S SN T ford 2
(A) 39 (B) wierm s
(C) T (D) TR
(E) #Tana s
75  Who has been appeinted as the New Chairperson of CBSE, in March 20247
(A) Navneet Sahgal (B) Rahul Singh
(C)  Vinay Kumar (D)  Subodh Kumar Singh

(EY  Question not attempted
at= 2024 H, 91 S UHL 5. o 90 3eE o ue 0 ol Ty fera R

(A) T wETTer B) T R
(C) TmaFam (D) Ha R e
(E) gt o
76 Who became the first Indian to win a match in a Masters 1000 Tournament on clay courts?
{(A)  Ramesh Krishnan {(B) Nitin Kirtane
(C)  Sumit Nagal (D)  Sagar Kashyap

(E)  Question not attempted

T (FrEh) I W AISEE 1000 THTHE H 5= SfidH ATel ToH AR 7 i 87

(A) THI U SR EIGERERGE]
() giaAmT (D) EITFTET
(F) ormia g

77  When a narrow beam of sunlight is incident on a glass prism, the emergent light is seen to be consisting of
scven colours. In the emergent light:
(A)  theviolet light bends the most, while the red light bends the least.
(B) the red light bends the most, while the violet light bends the least.
(C)  both the violet light and the red light bend equally.
(D) bending of light beam does not occur,
(E)  Question not attempted
e €T TR i T AW W0 Tk & & Oen w smatas g €, o e sehre wma @ w6 gt 21 e
TTRTET -
(A) STt wehTer Herd 31fren ST Wenrel Ged H famferd S 21
(B) AT YenTeT a8 STfee S ST wenter ware &n Forafora e 2
(C)  Shrit o STt wepTeT ST SeR et g 2
(D) Werre1 159 s fersrer i Sar )
(E) #Tana s

78  From the top of a clift which is 90 m high, the angles of depression of the top and bottom of a tower are

observed to be 30° and 60° respectively. What is the height of tower?
TS 90 m Fr=it =2 T T |, 2TaT ehT =1 Uef SATER 3R FTTTH R0 SHHST: 30° TH 60° 8] TR il S48 T a2
(A) 30m (B) 40m
(C)y 60m (D) 70m
(Ey  Question not attempted ¢ EFlfﬁﬁ_d g
T19] O 18 [ P.T.O.




79 A solid right circular cylinder has height 17 ¢em and its radius is 8 cm. The cylinder is cut in three equal parts
(by 2 cuts parallcl to basc). What is the percentage increase in total surface arca?

Ueh 3 ¥l Gl sier ol g 17 4l e Brsam § Ul ) 59 Sfei ol o srisi STl (59 ST o e &
) W ST T ot GEte &Ret 3 i 1 T = 27
(A)  50% (B) 08%
©)  79% (D} 64%
(Ey  Question not attempted ¢ EFlﬂﬂﬁ_d g
80  Which of the following pair is NOT correct about the keyboard keys?

(Choosc the most appropriate option from below)

(A)  Control Key - Tab {B) Command Key - Caps Lock
{C) Puncluation Key - (z) Semicolon. (D} Navigalion Key - Page Up
(EY  Question not attempted

bl SIS oI’ o Waw o 1 3 U b9 97 W el A8l 87

(A) FegieT i - Tab (3) FATS - Caps Lock
(C) ‘Eﬁ\ﬁ?ﬂ:{ &I - (2} Semicolon. (Dy e (e i - Page Up
(C) AR 5

81  Which of the following is open command in MS office?
Frrferfiar o & =i W ww ST 1§ S Fais 22
(A) Tab+0O By Cul+0O
(Cy Alt+0O (D) Shift+0
(Ey  Question not attempted ¢ EFlfﬁﬁ_d g
82  Which of the following is the most appropriate for the name of Excel sheet?
{(A)  Minimum 1 Character, Maximum 21 Charactler
(B)  Minimum 1 Character, Maximum 31 Character
(Cy  Minimum 2 Character, Maximum 19 Character
(D) Minimum 2 Character, Maximum 27 Character

(E)  Question not attempted

rerferfier 1 & i a1 ter ¥t o6 1 o6 forq v S 27

(A) =T 1 39, 3TfeeRad 21 v (B) =IaH | 3, Afereras 31 7ot
(€)  =gFaw 2 3l sfteran 19 Jof (D) =g 2 vl stfaeman 27 auf
(E) HTana s

83  Which dialect is spoken in the areas of Churu, Thunjhunu, Hanumangarh, Suratgarh and Ganganagar?
(Choosc the most appropriate option from below:)
(A)  Malvi (B) Mewari
(C) Shekhawali (D) Marwari
(EY  Question not attempted
= Hl S, 9%, e, TS, §TTTg HIT TR & 5 Sl St 82 (0 & e 399 fodhed T4

(A) W (B) HETE
(©)  w@mErt (D) HRETE!
(C) AR 5

T19] 19 [ P.T.O.



84  What is the reason for the popularity of Allah Jilai Bai?
(A) Dance (3) Mand Singing
(C) Kurja Singing (D) Playing instrument
(E)  Question not attempted
TS [STETS QTS T RIS Rl 0T T 22

(A) TH T (B) WS TET
(C) st TR (D) AT AR ST
(E) HTana s

85  Tdentify the grammatically mos¢ appropriate sentence from the options:
(A) Inaweek’s time [ will complcte my work.
(B) Inaweek’s time T will have completed my work.
(C) Inaweck’s time [ will be complcted my work.
(D) Inaweek’s time T will be complete my work.
(E)  Question not attempted

86  Choose the most appropriate passive form of the word ‘Mistake” to complete the sentence:

The meter reader for a burglar by the landlady.
(A)  mistook (B)  was mistook
(C)  was mistaken (DY has mistaken

(E)  Question not attempted

87  Choosc the mest appropriate option to fill in the blanks:

He looked at me with horror when T explained that T was double agent. (x = blank)
(A) a,a B) x,a
(C) the, the (D) the, x

(E)  Question not attempted

88  Choose the most appropriate option to fill in the blank:

1 need to buy cggs but 1 haven’t got moncy to pay for them.
(A)  some, any (B) any, some
(C)  all, little (DY few, a little

(E)  Question not attempted

89 ol § qEaT=e T3 3 38 B

(A) T (B)
(C) e Dy fa=
(E) gt o

90  ‘Compcnsatory’ =7 et oy fom aref ° R 29
(A oof (B) &fig
(C) wiia (D)  THES
(E) gt o

T19] 20 [ P.T.O.



91

92

94

95

96

In the given ligure, il PQ || RS, £ QPLE=12%° and / PER=148°, then / SRM is equal 1o:
feumu = g, 3" PQ || RS, L QPE=128°Ud / PER=148°, dl ./ SRM s :

Yvre Q
ED1age
R/ S
M
(A) 88° (B) 92°
(C) 96° (D) 98°

(Ey  Question not attempted ¢ EFlfﬁﬁ_d g

The area of a triangle formed by a line 2x — 3y + 6 = 0 and the co-ordinate axes is:
(A) 3 squarc units (3) 4 square units

(C) 7 square units (DY 10 square units

(E)  Question nol allempled

TET2x 3y +6=0 g SR e s1a o ey Fida By w1 aee 2

(A) 3@ gF (B) 475w
(C) 7alTHE (D) 103 TS
(C) AR 5

A and B can do a picce of work in 45 days and 40 days respectively. They began to work together but A
leaves after *m” days and B finished the rest of the work in (m +14) days.

The value of m is:

(A)  9days (B) 23 days

(C) Sdays (DY 17 days

(E)  Question not attempted

A 371 B foreft s =l e 45 ot i1 40 Tl # Ry =Rt vl ) 3 fireret ol ey s E ifeR A, m TR
TG A BT 3T © IR B I 7 BT (m +14) R @ HCIATE, qm FAE &

(A) 9f& (B) 23f&m
() st ™y 17f=
(C) AR 5

SO H FHT 2-

(A) wrgsife (B) dqEN
©) (DY FHYE
(E) gt o

et # Fifea 3ot 2-

(A) W (B) Ui

€ v (Dy A

(F) oTia s

Frfatiaa 7 faetin weat 71 wet 3w 72 2-

(A) TS - T (B) TE&T-Tr
(C) TE-wH (D) SgmET - qEET

(F) :\;qaﬁﬁ?\r’w

T19] 21 [ P.T.O.



[ S

97  Tfafad & w197 T8 2-

(A) T@ ®) fr=
(C) W (Dy wEet
(C) AR 5
98  Frfafeaa # 8 fafad @ 2-
(A) TR AT T 2| (B) TET &0 & qren o1ees 2
(C) SHeh Tl Hag B (D) % I & Taaw 2
(F) ormia g

99  Tn a certain code, ‘he made good money” is written as *1465°, *he must be good” is written as *9421°, ‘must
savc some moncy’ is written as “9876°, ‘be good save grace’ is written as ‘2483°. Which of the following is
the code for *some™?
ot fofire g § “he made good money’ 1465 ToRaT AT R, ‘he must be good’ it 9421 frgr AT R,
‘must save some moncey’ T 9876 fomaT ST 8, “be good save grace’ T 2483 foT@T ST 81 “some’ % foIw
TATAEa | € 1 €1 %I BRI
(A) 6 B 7
) 38 oy 9
(E)  Question not attempted / Bilfljﬂfﬁ RE]

100 What will be the next number in the following scrics?

foferfiaa Sroft # st wea o B

3,10, 20, 39, 85,

(A) 212 (B) 112
C) 99 (D) 101

(E)  Question not altempled ¢ ailflaﬁﬁ_d RE]

101 Which of the following pair will give displacement reaction?
(A)  FeSO, solution and copper metal (B)  AgNO; solution and copper metal
(C)  CuS0, solution and silver metal (D)  NaCl solution and copper metal

(EY  Question not attempted
Frfatia 7 @ e 3w sier fawumm st am

(A)  FeSO, foemm s am (@) arg (B)  AgNO, [ 3 aw (&) a1g
(C)  CuSO, faerH iR =ie! (Reaw) °rg (D)  NaCl e SR A (H1H) 491d
(C) AR 5

102  Aquaregia is a freshly prepared mixtre of concentrated HNO; and concentrated HCI in the ratio of

respectively.

5 LINO; R 5 11C] T 7T AT H foreteRt AT v () fHerr s
14T 2

(A) 1:3 (B) 2:3

©) 3:1 Oy 3:2

(E)  Question not attempted / fﬂ?la?lfﬁ RE]
T19] O 22 [ P.T.O.



103 A ray of light is incident at an angle of incidence 13° on a plane mirror {as shown in figure).
The valuc of X 1s:
TeRTST o7 Weh ToheoT et <7 O¥ 15° o SAT9GH hIvT W A dd < St & (|1 for R o femrn e ) £ X =
AT BRI

Normal

(A) 45° (B) 65°
() 73° (DY 8s°
(E)  Question not attempted / fﬂ?la?lfﬁ RE]
104  Where is the lnstitute of Development Studics situated?
(A)  Udaipur (B) Bhilwara
(C) Jaipur (D) Mount Abu
(EY  Question not attempted
foreRTer STea HedT hal W oo &7

(A) TR (B) Hiem@Emer
©) AR (D) HEE S
(E) HTana s
105  Where is the Central Institute of Arid Horticulture located?
(A) Chittorgarh (3) Jalore
(C) Bikaner (D)  Shriganganagar
(E)  Question not attempted
T S[h AT HeerH e o ferd 2
(A) T (B) SIER
(C) wlemr (Dy AR
(C) AR 5
106 Where is National Tnstitute of Fashion Technology simated in Rajasthan?
{A) Jodhpur {B) Udaipur
(C)  Jaipur {Dy Kota

(E)  Question not attempted

[T ST T ST Ul ¥ el 6o 87

(A) SrEgY (B) 3ITE
(©) IR (DY @ieT
(E) i ot

107  Choosc the most appropriate English translation of the given sentence :
TTAfeT fApTeraT ST 2
{A) IU'seasy (o find [aulis {B) Faulls can’l be easily [ound
(C) Tt has been easy to find faults (DY Tt’s very easy to find faults

(E)  Question nol allempled
T19] O 23 [ P.T.O.



108 Choose the most appropriate reported form of the given sentence:

109

110

111

112

113

He said, “Don’t walk on snow. Il 1sn’t sale.”

{A)  He warned us not 1o walk on snow as it wasn’i sale.

{(B) He said 10 us not walk on snow lor it 1sn’L sale.

(C)  llc told us that it is not safc to walk on snow.

(D) 1le warned them how unsafe it was to walk on snow.

(E)  Question not attempted

Choose the mest appropriate form of the verb to fill in the blank;

The passengers in the waiting room are restless after the announcement that the train

(A) tuns
(C)  was running

(E)  Question not attempted

e w7 A - b A

(A) g+3h®
(C) Hg+3h®
(C) AR 5
ratere T 2-
(A) ITEE
) 3F

(F) ormia g

The genes associated with celour blindness are located on

(A)  Autosomes
(C) Y- Chromosomes
(E)  Question not attempted

Fuiieerar & <9 9 fed g )
(A sfelTEr

(C)  Y-ToHgA

(C) AR 5

In the following rcactions -

frfafaa sffrast 8 9 -

(1) 280, +0, —=12804
(i) Ny +0, =——2NO
Which reactions occur in presence ol catalyst?

T AT I = Iufterdt 9 €t &7
(A) (i) and/a9T (iii)
(C) (i) and/d9T (i1)
(E)  Question not attempted / 31?@'?&[ EE]

T19]
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(B)
(D)

(B)
(D}

B)
(D}

(B)
(D)

(B)
(D}

(i)
(iv)

(B)
(D)

was late

is running

Y+ FHih
SN

ToqE

2

FIRT

X- chromosomes

Mitechondrial DNA

X~
2 =

HIgeienii~gas LU (DNA)

H2 +12 :\2:[—[[

(i1} and/THT (iv)
(i}, (i1} and/qT (i)

late,

[ P.T.O.



114 FHTaRed § 3 e I 7158 &-

N Rk
it T3u T ferened| # & Harlfereh I 3T M :
(A) aeTa, bRd (B) adic,d3fite
(C) FaAb, d3ANc (D) FaAa, b3 ¢
(E) HTana s

15 FIl GieAr qerEt 1 wet oo 2-
(A) BT Ug=H 0 T FLT (B)  =hfc UiLeny ohaAT
(C) SN ST (D)  RIY Tehe AT
(C) AR 5

116 FEfIREd & © U Si%= &1 YR T2l 2-
a. GEgoT
b. =AREE

AT

TR

€. Yeedd-T
Hrer feg e et 7 & wariferss 3w s g
(A) FaTaMc (B) FaTb AN
(C) FaTc 3 d (D) FaAb, ¢ 3 d
(E) i ot

117  One morning just after sunrise, Ankit was standing facing a pole. The shadow of the pole was formed on the
lefl side of Ankii. Which direction was Ankil [acing?
(A) East (3) Woest
(C) North {DYy South
(EY  Question not attempted
Fifohd Ueh YeIE AT o YT Ueh Wl oh! S 8 ok TS AT| T 3h1 ST 3o o Sl A1 T8t T 3iferd

47

=TS

for Taam o1 7R o ek e o1 ?
A ¢ (B) dfim
(C) TN (D) gfaor
(E) HTana s
118 Tf 15™ February, 2018 was Thursday, what was the day on 19 April 2019 ?
(A)  Thursday (B) Friday
(C)  Saturday (D) Sunday

(E)  Question nol allempled

afe S TE 2018 i TR AT, |19 3T 2019 1 A1 fa o

(A) TR B) IHAR
(C) wfEw (Dy TER
(E) i ot

T19] 25 [ P.T.O.



119 Take the given statements to be true even if they seem to be at variance from commonly known facts.
Then decide which of the given conclusions logically [ollows [rom the given stalements.
Statements:
No paper is car.
All cars are marker.
Some markers arc crascrs.
Conclusions:
I. Some cars are erasers is a possibility.
1. Some papcrs arc markers.
(A)  Only conclusion T follows, {B) Only conclusion T follows,
(C)  Both conclusions T and IT follow. (D) Neither Tnor TT follows.
(E)  Question nol allempled
5T T e T A AT ST I G a9 © ST 9TE St 8, 36k LT A T e | e
eargut forsept 1 Fofr o
Y
T IS BT el B
it H AT
B HIHL ST (T 2
e
L FOFEMIER (@) B § T8 THeT |
. 3 FS 96 2

(A) S TS | SR T ) (B)  ahaet ey LI S8 T 2|
(C) T | T 1L I TR A B (DY TATLSRTE 1L TR FT 2
(F) 3T T

120 Choose the word closest in meaning to the underlined word from the given options:
During the course of the interview, she relused to answer the question thal infringed on her personal life.
(A) ingrained (B)  ingested
(C)  infused (D) invaded
(E)  Question nol allempled
121 Choosc the most appropriate word similar in meaning to NONCIIALANT
(A) indifferent (B) insubstantial
(C) insurrection (D) intimidating

(E)  Question not attempted

122 A set of step-by-step procedures for accomplishing a task is known as
(A)  Firmware Program (B) Software bug
(C) Hardware Program (D} Algorithm
(E)  Question not attempted

Toreft 2Tl =Rl T S o ToTT, =0T, (W ST %) WoRH o B9 i Fedl o

(A) AT T (B) G &
(C) TEaR o™ (D) TTER
(F) ormia g

T19] 26 [ P.T.O.



123 Who imposed Chanwari tax on the farmers of Bijolia in 19037
(A) Rao Krishna Singh (B) Jagirdar Prithvi
(C)  Sadhu Sitaram Das {D} Maharana Faleh Singh
(EY  Question not attempted
1903 3, 7 famniforar & foramt W =er’t o o ommam o

(A) T H e (B) SRR geafi
(C) g Hiar W I\ (D) AR %oE (g
(C) AR 5
124  Who was the first Governor of Rajasthan? (Choose the most apprepriate option from below:)
{A)  Shri Kalraj Mishra {B) Maharaja Sawai Man Singh
(Cy  Shri Gurumukh Nihal Singh (D)  Shri Hem Bahadur Singh

(E)  Question not attempted

TSTEAT o TYH TSI | 42 (1 3 Ad 397G [9ohed 1)

(A)  oft e T (B) HERTST 4T A &g
(©) et fie (D) ot & sreTg fiw
(F) 3T T
125  Which one of the following is the State trec of Rajasthan?
(A) Deodar (B) Khejri
(C) Rohida (DY Saal

(E)  Question nol allempled

FETRad & & T TS 7 059 95 22

(A) EER (B) WS
(C) Ufesr (D) @
(E) #Tana s
126  Spirulina is a good source of-
(A) TFat (B) Vitamin C
(C) Carbohydrale {D} Prolein
(EY  Question not attempted
TTSEAT ST=aT Hid &
(A) SHTRT (B) frE=Ca
(C) ST (D) WA
(C) AR 5
127 When air in between the plates of a capacitor is replaced by mica of dielectric constant 4, its capacity -
(A) rcmains unaffccted (3) rcduces to &Lh
(C) becomes 4 limes (D} becomes 2 limes

(EY  Question not attempted
afe STl o1 Wi o st ot o R e, TorweRt Tareea et 4 7, & wee foam S A, wenfor i et -

(A) st et B) - A
(C)  4TATE SRR (D) 27T | SR
(E) HTana s

T19] 27 [ P.T.O.



128

129

131

132

Who is known as the father of the Indian space programme?
(A) D AT J Abdul Kalam (B)  Dr. Homi Jehangir Bhabha
(C)  Dr. Satish Dhawan (DY Dr. Vikram Sarabhai

(E)  Question nol allempled

WA AR FEhd o Sk o 9§ i foeard 27

(A) 2N TS s7eger Fem (B) 1. BT SRATR HraT
(C) 1. udw ge (Dy 2. fsr s
(C) AR 5

‘P’ is the centre of Circle, A tangent is drawn which touches the circle at ‘M’ Tf £ BPM = 70°, then what
18 the measure (in degrees) of £ DMR ?

Ush I %1 &g P 2| Teh SHeia el STt & S a9 ol M W el o=t 8191 £ BPM = 70° 8,9 Z DMR &7
T (39T H) TR

B e D
i3 R
(A) 55 B)  60°
(C) 70° Dy 75°
(E)  Question not altempled ¢ ailflaﬁﬁ_d RE]
Z_]
If cosec 8 + col® = m | then find the valuc of IR
" m
2
Tfe cosec O +col®=m B a1 m2 : T HH 1 i)
. m? +
(o) sinf @) ¢osd
© cosecB (py tan®

(EY  Question not attempted / 31?@'?&[ EE

If /80 +6+/5 =22.35 , then what will be the value of 3/5 + /125 9
A 80 + 645 =22.35 2,41 345 + 125 A AT ERNT?

(A) 16 (B) 17.88
(C) 22.88 (D) 25.88
(Ey  Question not attempted ¢ EFlfﬁﬁ_d g

What is the difference of Median and Mode for the given data?
et o T ATeRe < forw HTfearerT Ue agee § 397 ST 27

90, 94, 52, 68, 80, 94, 52, 65, 87, 90, 70, 52

(A) 23 (B) 25
©) 27 (D} 29
(EY  Question not attempted / 31?@'?&[ EE

T19] 28 [ P.T.O.



133

135

137

T19]

“Pivot Table” is a feature of which of the following software?

{A)  Microsoll Cxcel {B) Microsoll Word
(C) Microsoll Access (D)} Microsoll Powerpoint
(E)  Question nol allempled

e #  forw wToee 1 T ferivar <fae 2o &2

(A) WIS T (B) HARHER TS

(C)  WTSSHIETR U (D) HTEHIETR YTatiTs<
(F) ormia g

Which of the following is an Tnput device?

(A)  Speaker (B) Printer

(C)y  Mouse (D)  Visual Display Unit
(E)  Question not attempted

Freaferfiae & & # 41 ye fearga 22

(A) &Rt (B)

(C) H15H (D) fastore femwt gfe
(C) AR 5

Which of the following command of Excel will take you to the previous shect of the work book?

RS o1 FTTRad H 8 A | HATE ST 1 qreent b1 el v we s

(A)  Curl + Shift + Page Up (3) Alt+ Page Up
(C) Ctrl +Page Up (DY Tab+Page Up
(EY  Question not attempted / 31:|Qﬂ|‘1'?'| EE

Choose the mest appropriate statement from the following:

(A)  The format of the date in an official letter is 01/04/24.

(B) A notice is distributed to the selected people in an organization.

(C)y A D.O letter is written by an authority to the employees of that organization.
(DY *Yours respecilully’ is the appropriale subscriplion for an informal letler.
(E)  Question nol allempled

Choose the most appropriate word (o complele the given senlence:

The boy crawled the fence to enter the garden.

(A) above (3) out
(C)  under (D} ncar
(EY  Question not attempted

Choose the mest appropriate word to complete the given sentence;

His ideas on the link between art and culture in Asia do not conform

theories.
(A)  within (B) into
(C) with (D) to
(E)  Question nol allempled

29

the generally accepted

[ P.T.O.



139

140

141

142

144

145

Rajasthan State Allied and Health Care Council is constituted under
(A) National Allied and Health Care Profession Commission Act - 2020
(I3) National Allicd and Llcalth Carc Profcssion Commission Act - 2022
(C) National Allied and Health Care Profession Commission Act - 2021
(D) National Allied and Health Care Profession Commission Act - 2023
(E)  Question not attempted

TS £2 STRE U SCUhdL HISIUe il e [+ UF o dad [ohdT 7T &:-
(A)  TIET STEATSS TS SRt TIthe AT UF - 2020

(B) M 3TTTEE U Bolehdt YhEH FHITH T - 2022

(C) I STATES U 2ederal MthaH FHTH U - 2021

(D) T ITATSS U SeUeRat TIther AT Uae - 2023

(E) STIarayd

Which City was the venue for the international AYUSH Conference and Exhibition 20247
(A)  London, UK {(B) Mumbai, India

(C)  Dubai, UAE (DY Ncw Delhi, India

(E)  Question not attempted

F & TR STRET ST (AVUSH) Forer 7 et 2024 58 off?

(A) o, T, (B) T, W
(€) FELATE (D) P fere, s
(F) oraia gy

wémﬁaﬁmmum%*’

(A) o (B) %

(C) T (D) %

(E) #Tara s

T v1eg “sheh oh1 Fmaferfiad o uer o3¢t 9T 2-

(A) e (B) @
(S Iy (DY T
(E) i o

Foreforfiad § - so 1 T e R

(A) T (B) ="
(C) o (D) AR
(F) ormia g

The percentage profit carned by sclling an article for T 1,920 is cqual to the percentage loss by selling the
same arlicle for ¥ 1,280. AL whal price should the article be sold 1o make a profit of 3097

TordlT &g 1 % 1,920 H sI= WX SfSia v a7 Wit 3t 39 T 1,280 3 sierd g T a7 Wi Ush 89 81 36 a5
ﬁ%@rﬁmwﬁm% 30% ST ITH &7 Jeh?

(A) T2,000 (B T L1950
(C) %2080 {D) T3,500
(E)  Question not attempted / Bilfljﬂfﬁ RE]

Ir x+“—v—],Lhen x3 —|—y3 =

_V X
RIS R RV 1ﬂ =7
¥ X
(A) 0 B) 1
€ ®) -y

(E)  Question not attempted / 31:|\ﬁ|‘1'?'| EE]

T19] 30 [ P.T.O.



146 The value of {

1 1 1
+ + is
log; 72 log, 72 logg 72} 15

(A)

1 N 1 N 1 3,
log272  log, 72 logc72 HIHE:
0 (B) 1
2 (Dy 3

(€)
()

Question nol allempled / ailflﬁﬁ_d o4

147 Meja dam has been built on which ol the [ollowing rivers ol Rajasthan ?

(A)
©)
(E)

Parvati {B) Kothari
Javai {D) Mahi
(uestion nol allempled

frrefetfiaa o o v Y fore 7€ ox B | s e

(A)
()
(E)

LI GGl (3) AT
EELE (D) &
HTANT T

148 Secleet the most incorrect statcment about desert soil.

(A)
(B)
(C)
(D)
(F)

Desert soil is displaced by wind.

It lacks in fertility but keeps morc salinity.

Ber, drumstick and karonda are considered excellent for the improvement of desert soil.
Dresert soil is found in eastern Rajasthan,

Question not attempted

HEEIET TaT o A H 9o 3TH 9 3 99

(A)  FEEIETe H&T UaHT 3 R e & St 2
(B) 399 IAAT i AT TATeRT 311 STaoTaT a1 et B
(C) SR, W& a1 hie] Heedel ¥ el o GaT § 399 HI S1d &)
(D) Teeyefier ot et Tsreer § e e 21
(E) i ot
149  In Rajasthan, Talchhapper wildlife sanctuary is situated at .
(A) Bundi (B) Churu
(Cy  Sirohi (D) Juipur
(E)  Question nol allempled
ST | ATASTI A1 SR o ey 27
(A) & (B) T%
© T (Dy AR
(C) AR 5
150 Indira Gandhi canal is sitvated in which ol the [ollowing regions of Rajasthan?
(A)  Secmi dry Region (3)  Woestern Desert plain Region
(C) Aravali Region (DY South Eastcrn Region
(E)  Question not attempted
Efemy et e U & FEfafaa § € TR 89§ sEitaa 22
(A) Iy e (B)  ufsrd wewerefr Bert &
(C) 3t & (D)  &feor o=t &
(F) ormia g

T19]
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SPACE FOR ROUGH WORK /T T4 % forg o

IR UAF W 71 Wit § - qor wfa AR fadver wia, wdtern waTie o qe we oig § ud uiandi 3w
Gorek oh1 11 Tfcal digrek =i @i, gdianedf @ fgdta uid =1 overy 781 ¢ | Jigheh g1 I 996
W1 T [l 1 0w T, 5o vl & 0o Ui @ we @1 9 WE o g g E oo &
gdigmelt =) WG | ahendT f3dta gl 1 sra wg & «rE |
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